

# GOVERNMENT OF KARNATAKA (Commercial Taxes Department)

Office of the Joint Commissioner of Commercial Taxes(Admn), VAT Division-3, 8<sup>th</sup> Floor, Vanijya Therige Karyalaya, Ist Main Road, Gandhinagar, Bangalore-560009.

Telephone No. (080) 22267825

No.JCCT(ADMN)/DVO-3/2011-12

12 Dated: 08-08-2011.

### TENDER NOTIFICATION

Tenders are invited under two cover systems from qualified contractors for undertaking the work of relocation of existing alluminium partitions and setting up of record rooms for Local VAT Offices 90, 100, 110, 110(Addl), 120 situated on the 4<sup>th</sup>, 5<sup>th</sup> & 6<sup>th</sup> floors of Malemahadeshwara Trust Building, Chamarajpet, Bangalore-560018. The prescribed tender form and document showing 'terms & conditions' of this tender can be obtained from the Assistant Commissioner of Commercial Taxes(Head Quarters) in the above given address during office hours on all working days (or) downloaded from website.http//:ctax.kar.nic.in.

The first sealed cover should contain the particulars of

- (i) VAT Registration
- (ii) VAT Clearance Certificate
- (iii) PAN details of Indian Income Tax, 1961
- (iv) Details with proof for having been worked as qualified contractors for aluminum partition work.
- (v) Demand draft for Rs.10,000=00 towards EMD.

This cover should be superscribed with the words 'PRE-QUALIFICATION BID FOR ALLUMINIUM PARTITION WORK'. The second sealed cover should contain the financial bid in the prescribed form and should be superscribed with the words 'FINANCIAL BID FOR ALLUMINIUM PARTITION WORK'.

The sealed covers containing the 'PRE-QUALIFICATION BID' and the 'FINANCIAL BID' should be enclosed in another sealed cover superscribed with the words 'TENDER FOR ALLUMINIUM PARTITION WORK in M.M.Trust building, C.T.D. Bangalore and should be addressed to the Joint Commissioner of Commercial Taxes(Admn), Division VAT office-3, 8<sup>th</sup> floor, Vanijya Terige Karyalaya, Gandhinagar, Bangalore-560009. The bids should be unconditional, conditional bid will be summarily rejected. The financial bid covers of only those bidders who satisfy the prequalification requirements after evaluation of the prequalification bid will be opened.

The bidder should satisfy all the terms and conditions laid down by the Commercial Taxes Department in this behalf.

The last date for submission of tender is 25-08-2011. The sealed covers containing 'PRE-QUALIFICATION BID & FINANCIAL BID' should be delivered to the Joint Commissioner of Commercial Taxes (Admn), D.V.O-3, Bangalore-560009. Tenders received after 4.00 P.M on 25-08-2011 will be rejected.

The prequalification bids will be opened on 26-08-2011 at 11.00 A.M. in the presence of available bidders and the financial bid of those who qualify in prequalification bid will be opened on 27-08-2011 AT 11.00 A.M. in the O/o the Joint Commissioner of Commercial Taxes(Admn), D.V.O-3,Gandhinagar, Bangalore-560009.

I/c Joint Commissioner of Commercial Taxes, (Admn), D.W. Q.3. Bangalore 560009.

(Admn), VAT Division-3, Bangalore-9.



# GOVERNMENT OF KARNATAKA (Commercial Taxes Department)

Office of the Joint Commissioner of Commercial Taxes(Admn), VAT Division-3, 8<sup>th</sup> Floor, Vanijya Therige Karyalaya, Ist Main Road, Gandhinagar, Bangalore-560009. Telephone No. (080) 22267825

Terms and conditions prescribed in relation to the tender notification No.JCCT(ADMN)/DVO-3/2011-12, dated : 08-08-2011 for undertaking work of alluminium partition in M.M.Trust building, Chamarajpet, Bangalore;

- The bidder should be an authorised qualified contractor in alluminium Partition work. Proof of the same should be submitted alongwith the Tender document.
- 2. The bidder should be a registered dealer under KVAT Act 2003 & proof of the same should be submitted alongwith the tender document.
- The bidder should submit a 'Tax clearance certificate' issued by the Value Added Tax authority concerned covering the period upto the date of publication of tender.
- 4. The bidder should submit proof of Permanent Account Number (PAN) issued by the Income Tax Department.
- 5. The bidder should enclosed in sealed cover containing the 'Pre-qualification Bid' a Demand Draft for Rs. 10,000=00 as earnest money deposit (EMD) Drawn on any scheduced bank favouring 'Joint Commissioner of Commercial Taxes(Admn), D.V.O-3, Bangalore' payable at Bangalore.
- 6. The EMD of unsuccessful bidder will be returned only after finalization of the tender process.
- 7. The EMD of the successful bidder will be returned only after successful completion of work covered in this tender.
- 8. The qualified bidder should

- (i) Complete the work of setting up of alluminium partition for establishment of record rooms in Local VAT Offices situated on 4<sup>th</sup>, 5<sup>th</sup> & 6<sup>th</sup> floor of M.M.Trust building, Chamarajpet,Bangalore as per the specifications Provided in the financial bid to be submitted by the bidders.
- (ii) Successful bidder should contact the officer in charge of the concerned office to which the work of alluminium partition relates and obtain letter for commencement of work and complete the work under their supervision. After completion of work, the bidder should obtain a letter of satisfactory completion of work from the concerned officer.
- The bidder should mention net value of the work undertaken and tax element thereon separately and also enter the total value in the financial bid document.
- 10. If it is detected by the C.T.D. that the successful tenderer is not carrying out the work undertaken effectively, the tender award will be cancelled forthwith. EMD will be forfeited and such tenderer will be blacklisted.
- 11. CTD reserves the right to reject all or any of the tenders.
- 12. Conditional tenders will be rejected.

#### PRE-QUALIFICATION BID

Tender submitted in response to tender notification No.JCCT(ADMN)/DVO-3/2011-12, dated: 08-08-2011 issued by the Joint Commissioner of Commercial Taxes(Admn), Division VAT Officer – 3, Bangalore in relation to undertaking alluminium partition work on the 4<sup>th</sup>, 5<sup>th</sup> and 6<sup>th</sup> floors of M.M.Trust building, Chamarajpet, Bangalore-560018.

- Name & Address of the tenderer
- 2. Name & telephone no. of contact person (on behalf of the tenderer)
- 3. Registration Certificate No.(TIN) under KVAT Act.
- 4. PAN issued by the IT Department (No. and date of issue)
- 5. Tax Clearance certificate(No. & date) from VAT Office
- 6. Number & date of certificate/authorization: letter for having recognized as qualified contractor for aluminum partition work.
- 7. Name & contact number of authorised : Person of any two govt. organizations to Which the tenderer has done work during The past 2 years.

## DECLARATION

I......the tenderer have read and understood the terms and conditions laid down by the C.T.D. in relation to this tender and I undertake to complete the work as per the terms and conditions.

Signature of the tenderer.

### FINANCIAL BID

Tender submitted in response to Tender Notification No.JCCT(ADMN)/DVO-3/2011-12, dated: 08-08-2011 issued by the Joint Commissioner of Commercial Taxes(Admn), Division VAT Officer – 3, Bangalore in relation to undertaking alluminium partition work on the 4<sup>th</sup>, 5<sup>th</sup> and 6<sup>th</sup> floors of M.M.Trust building, Chamarajpet, Bangalore-560018.

- 1. Name and full address of the Tenderer.
- 2. Financial bid for supplying and fixing of
- (a) Alluminium partitions with single openable door using Jindal 15 micron anodized section 63.5 mm X 44.45 mm using 1 mm medium guage Alluminium angles with 2 ½ X 1 ½ thickness door vertical 47.62 mm X 44.45 mm door bottom 114.30 mm X 44.45 mm, door top & centre 50 mm X 44.45 mm 12 ft length half of glazing clips 19 mm X 17.39 mm using prelamination board of 9 mm thickness:necessary of door lock EPDM rubber gas kit handle and tower bolt etc. complete in respect of following work descriptions.
- (b) Window covering plain sheet of 12 mm thickness:

## ACCT (LVO-90), Bangalore.

SI.No.	Description of work to be carried out	Measurement in feet	Total Area in Sq.feet	Rate per	Amount
1	2	3	4	5	6
1	New Material Aluminum Fabrication	10 X 12	120		
2	New Material	10 X 10 1/2	105		
3	Removing existing partition and fitting	8 1/2 X 19	161 1/2		
4	New Sheet Partition	5 X 11	55		
5	New Sheet Partition	7 X 22	154		
6	New Sheet	5 1/2 X 19	104		
7	Window covering	4 X 4. 3 NOs.	48		
8	Window covering	2 x 6. 3 NOs.	12		

## ACCT, LVO(100), Bangalore

SI.No.	Description of work	Measurement	Total Area in	Rate per	Amount
	to be carried out	in feet	Sq.feet	Sq. feet	
1	2	3	4	5	6
1	New Material Aluminum Fabrication	10 X 11	110		
2	New Material	10 X 3	30		
3	New Material Aluminum	8 1/2 X 20	170		
4	Removing existing partition and fitting	8 1/2 X 16	136		
5	New Sheet for partition	5 1/2 X 16	88		
6	New Sheet	7 X 10	70		
7	Window covering	4 X 4. 4 NOs.	64		

# ACCT, LVO(110), Bangalore

SI.No.	Description of work	Measurement	Total Area in	Rate per	Amount
	to be carried out	in feet	Sq.feet	Sq. feet	
1	2	3	4	5	6
1	New Material Aluminum Fabrication	10 X 11	110		
2	New Material Aluminum	1 1/2 X 15 1/2	23		
3	New Material Aluminum	10 1/2 X 11 1/2	120		
4	New Material Aluminum	10 X 3	30		
5	Removing existing partition and fitting	8 1/2 X 15 1/2	132		
6	New Sheet	5 X 15 1/2	77		
7	New Sheet	5 X 11	55		
8	Window covering	5 X 10 3/4	54		

# ACCT, LVO(110 (Addl)), Bangalore

SI.No.	Description of work	Measurement	Total Area in	Rate per	Amount
	to be carried out	in feet	Sq.feet	Sq. feet	
1	2	3	4	5	6
1	Aluminum Partition	8 1/2 X 15 1/2	130		
2	Removing and fitting	10 X 9	90		
		10 X 11	110		
	/	7 X 11	77		
3	Novopan Sheet Changes	5 X 8 1/2	42		
		7 X 11	77		
		5 X 9	45		
4	Wood Window covering	4 X 4 2 NOS	32		
5	New Material Aluminum fabrication	10 x 2. 2 NOS	40		
6	Removing existing partitions and Fitting	10 x 33	330		

## ACCT, LVO(120), Bangalore

SI.No.	Description of work	Measurement	Total Area in	Rate per	Amount
	to be carried out	in feet	Sq.feet	Sq. feet	
1	2	3	4	5	6
1	Aluminum Partition	10 X 13	130		
		10 X 10	100		
		10 X 9 1/4	92		
		10 X 11	110		
		8 1/2 X 15 1/2	132		
2	Removing existing partition and fitting	8 1/2 X 10	85		
		7 X 3	21		
		8 1/2 X 8	68		
3	Window covering 6mm 2 x 2 ood partition	4 X 4 3 NOS	48		
4	Novopan Sheet Changes	4 x 17	68		
		4 x 10	40		

### **DECLARATION**

I.....the tenderer have read and understood the terms and conditions laid down by CTD in relation to this tender and I undertake to complete the work as per the said terms and conditions.

Signature of the tenderer.